
NEW FRA PUBLIC SHOOL 
Solvec Assigm Unil 2 
los: 8th Aubiet:MATHS 

SyLLABUS
Chapu 1: Undesslandin uadilLnau 
Chablu 2 : aclica acom 
Chapta 3: Datk landlnp

Chat 1: luds stand uunculas
FolyoonS: Aogen S a close.d Cue Ma up d we 

Segoet The ne qmenti ahe kcdes an 
DYaqonas: A oiagen a ue omt Conëcung

two Meu Coukculye 
2 

3 al A Bu sided beundd 4a caleduadlata 

EXERCISE 3 
Give belaw O Seme 1ues 

L6) 
Sd:Sim curud: 12,5,6,

Amde losecd uved: 1,2,5, 6,1 
Poloon 2,4 

Lonyex Pooom : 2 

CeMCAvE Pouban:1,4 

abDd 
aDa 

33Wss|P 



ow am dia bonalk does each t 4etlo a 

Dt:|CouvEx Qadit has 2 diamab 
Ahcoa lexapon has 9 diaponalu 
anpl has mo ia pon 

2 

um measuie aCconyex quadiluG ia 360 
es, Auh otesty elds ih quactlital vs n Cowe 

4:hal Can yu Suy aboul h angl &um LEA 
wlh mo Sdes 

a1 b) 1o d 

n-2) x lko 
-2) xIgD°'-5xlko°-00 

-2 xI 6k16o 1080 
Sum anglus oa Comver ploon th 1D sides 

0-2 x 18 SXISo, |4Ho_ 
c) 

n-2)x I 

05: wht u a Aequlas bi¢on2 

AAuulanopon s both equianpule Qnd eailalsa
A lan polo0m havin 3 do is calledequat a 

A Agles peypeuhavind Sdes U Called a squQ 

y A Agula pdjpo havino b ss in calld hexajr 

abDd 
aDa 

371WSS 



66 nd the angle measu un teotlou suses 

20' 

Ap S0+130"+120°+ 36o 
Boo t 360 

S6o-300 bo 

060+o += 360 
220 = 360 

K= 360-228 140 

3 

60 

ig c) has 5 sides 
aolu um: 5-2)Y1Eo- 3xIko 5Ho 

Atso, exsis anals 70 &60 ven 
LoKKespodup iulue amgles ko -10 l1o 

(Iko-b0 =120 Aspecvely 
Ilo'+12o'4+30 + 5o 

260+2I = 540 

2-Su-260 2k0 
280= 140° abpd 

aDa 

327WSSD 



Fig Ca) s a kugular xalagon 
angl sum5-2)x1kD°= 3xlko°=54o 

J 

n54O =54D =o&_ 

5 

Eind tu4Z 

3 

K In t avMi 
a)Exleuer angl n ko-go)90' 

Ext anoi z=(o-30)= ISo 

Sum ouller angls a uagle lko
0t30 +P 18o_ 

0+P- I&o° P- &o -120 bo 

Ktuen anglu y o- 60)=120 

+Y tZ10 tiSD + 120= 360 

Exluen angl n= lko-120 =6o 
txlei AMgt S0-&o-l0o 

Exlum ang z=o-60 -120° 

2o80 +6o' +9 360 
2bo 4,= 360 >9,= 36 0-26o=00 
Exleien angle w l&o- io0 o 

DOD

aBDd 
aDa 

7WSSp 74W. 
O0TiOD + I20 4&o -360



Pa5 Exeh cise32 
:Fid in tt llbustnb 

LoAs t Stim ohe meabusesa teximal anal 

12St125 += 36o 

2SD += 360 2 = 26o-2Sd - l|D 

|AS tL Sum measu tt extaaanglu O n 
is 36 

D t6o To =360 
3l0 b6o N=36o -2lD =5D 

02:Hrd tt measU each ektier ang Acqular p 
Si dtsu Ssides. 

Lepalabon bemp huqula havi up gidts. 
A exleuin Ougles have equal weaslSay n 

3bo 
- B60/9 -Ho° 

Measu each exuien augll- uo' 
Le pdybon beiup hegulas havi u IS sides 

AL t exlain angs haye eaa Weauh Sa A 
IS= 36 

= 360 4° 
S abDd 

aDa 

Measu ach erlein Qnale = 24 32wssVD 



Meaik acheXlesib angle2 
Meaduk a xlei anglis 360 

No eRlei QwgtusSbo 

don has I5 sidek 

tasuk each wb angl-16S 
Sl Measulseach exles ios omgteSo-16s= IS- 

bERMeauk all oxlekp Ongus -36: 
o.sides 360 = 24 

IS 

Potgoy haa 2 Sides: 

OS l No, Since 22 is ot a diviso 260 
Sot 

bNo be cause each ei ange i Co-22)= S kich 
Mt a divise o d6o 

6: e equlaUn uang beun a haeula pelgen 
lal sides has the loast measuk u un aala 

eaaL t66 
Le ghcatut eTEAi auae auila lu tag 

Cau be U&b-b0=20' 

EXERCISE 33 

SL AD- Bc
m_pasalleloiam bpposTE Sides QA Aual 
abDd 

ayDa 



LDeB ZDAS 
aAa llelooMam opposTe amals a a 

Oc-OA OA 
abaka Lleleqham diaconals biset tach tlu. 

mDAB mLCDA= 1&D 
auy Twe adaut agly a allulogkam 0 Sutlit 

) 
Cw 

ia ) u_ st 

e 2C L LA ae Mat 2qual: 
aAall Lognam, because dppostl anglu 

i yv not apasallelonam hecaus, Ue pp0silSiole 
AB Lcp and BcDA 0 t equal 

Sicles 

Fiq lii w alo met a _asalIlcgtam bco2, te diagenals 
a basallelcgsam bibect each hence it u at se 
Qnd A LC Qe Mot eqnal 

2 

|Lt ABco be a govm lem 
he A LLB_ L adiacel amgti 

LA +L- I8
+2-Io' S=I&o' -36° 

LA = 3x = 3x 36°= 108_ 

and LB 23= 2x36- 7: U'2B LLC a adjacut angi 
abDd 

Lc ISo 72 =1O8aDa 



Alo, LCt D= 1SoLc LD_ak adiacut Avgtus 

D 18o-1081 
LA=OSLB12 LC- log° LD-12°

tu qivenlhat ABcD U m m widh Two 

anglu LA LB av equal meakul3 : ad jactnt 

mA 2 mß= 
AS Sum ay e djacut angls llm 1o 

LA 8 =1&d 

AK= 1&o 

2 1&o° =90 

AlseCbbosle Onglu a llm 0 equa 
LA = L
 

L= LD 
2 

Sl 

+ 

Ey- 

It igive [hat GUNS L ll9m 
oppof bidts a llgm aalll ard taua 

GU NS NU-SG 
26 1& 3 

y2641 

2 =1 
=6 

=183=6 

abDd 



RUNS a lm 
dlagonals oa l9m bisec each thur 

OU- OS

20-- 13 
Also Nlo - 0R 

9C+13 16 = 16- 13
X=3 

M 

Sede givni9 KLM is a Bupezium0s Te Sidu kL 

MN L pasad b'coz &um adjaciut ana 
LM lk 

A 

t u give That ABeo in a TLabezium havinb 
Le. 12 and Lu i&isls AB & cD Q aa 

c=lko- 120 60. 

abDd 
aDa 

37SS 



12 
Sol 

Tti given that, PARS aepeziu haidp Lo- 3o 

P P LO l&o 
LP t13018o 

LP 50° 
so, LR& LS each hae meaki 90 1Sum al 

LPaL&t LR+ LS 36o 
+130+90 190 366 

LP+310= 360° 

LP= 36o -3lo 

LP= 50.

EXERCISSE 34 

a) False 
SL)b TAuL 

()Tue e False 
d) Fale (n) Thu 

2 Squaks Rhembus 
Sel Squa Reclangte 

G3 Av us Sisded u called a quad Lo u T Squan 
Sa: ppesile Si desa llm oL eual aiallel istL Sauau 

i) A the cous sides akhewbus o e4ual & So isTl Sauas 
At ou ams ohecangt av hugt angus 

Jand dppo$Te 8ides oe eaual, Same UA te cat abDd 
aDa 

wlh U Squasi. 



BL: Pasalle lcgiam Rhembus nSquasu Kecka-g 
Sal: )Rhomus, quake 

) Rectang 

5 heelangh sa Cotx quadih, btoz Mo ort 

Sd 

As AABc u a hiqht anglud angt, kgst anglud at B 

And 0_is tta mid point Ac 

Snce th diagenals aAetangta akL els ard 
all hteangs llpn 

Ats oagmas g biseet each l 
o e d ont Ac Q ell as BD 

As 

abDd 
aDa 



Unt>2rd PatiealGlomelhy 
Exe kcise 4.1amd 4z alhtaedy done in cla45 
Ezeose u3.A guad. Can be 
onsdhuhd uni9uel 

s Lwe adfisides and Chire angles ase kneui 

Consteuat 
he vad MoRE

Mo6 em, OR=4:Scm 
Zm=6, Lo=lo5 
2R (05 
Jal Sleps Cansk velon 
Daaw a line Jeg mert no =6cm 

a Atodhaw Lxo R- Jo5 
3 Hor Hay ox, &ut orOcm 
4t R dkauw an LoMzz66 

E Ry andMZ tnsodtes 
lach o lhey at E 

Hence %RE is a heguitadguadelalikal 

M 

y 6cm R 

onslAict a pvadusla Tkah PLAN 
PL-yen L4-6152, ip-2LA Wa, ZN= 

LDAaualneJeqmerd PL=hem- 
a4tPduaw anLpy- 9,0 
3 At duaul ar LPLX=85 
4Cut oKA-6:5en tnhxX 
5. 4t A dnau anlhAxzlo 
6Py amd Az inkisect lachothid 

a N. 

Zhvs_ PLAN S Heguised Jiad 

03 Canslhuct 2 lateleleam HEAR 
L =05 

Sieles 
HE=5Cm, EA:6ëm 

val and Prsik arglhs n val 

eVal 3SS 



Cns uclon 
A 

/ Dhaw line Seg mtnl R 
HE=5 Cm 

At Ediaw LHEA-05 
and cut oEA =6 ém 
c Ex- 

3HereKH=(183--0s)-95 
|4-Deauw LEHy= 95 

ardCuf olf HR= 6cm H 

5 Joi 4R'and RA 
hus HEAR 1S A A3,viveel latelhb?pon 

95 
5 Cm 

a keetanglh hsii Sides arlpu 
_allaralrs 94 

Ce leps A 

Desw a line Sagment gen Se 
K=yem 

Ato dkaw LXo y-9u 
3Erom_ hay 0X- 
eut o oy-52m 

|4 AtK_draul 7Cm K 
angle Lokzzg 

517tem tay kz cel okA= 5e 
Main A4 

lence akAy: 14 akegvited hutaol 
6 

ExekCse y.y._ hen hresidesand
two cncluded anglts_a en 

Conslkvct_a 2uad 
DE=4em EA-5cm> 
AR l3cm, LE=6o LA-9 

DEAR 

Steps, Cons Tevcliorr abDd 
aDa 

vWSSVD 



. STeps ConsThucie 
DAaw ne Seqment EA =5em 
2: Dtau an LxEA =6 and 

LEAY 
3C ut o ED = ycm 

am Ex and AR-4:Sa. 

AY 
tJoin bR_ 

X 

0m A 

Hence DEAR 15 

E kes, uixed guod. SCm A 

S3 Const a gvad. TRUEE 
TR= 3:5cm, RU-3cm, UE-4¢m, LR-KZZN=h 

Sleps_o Canskvclian 
DAaw ZyRx= 75° 
a. withcenlie R and kadius 
35emataw an akc L&- 

nlesset Ry cn T 
3 I Cenpe R_and 

Aaolieus 25cm dsau 
an a la cneysedZ 

Rx in U- 
4 DYawLRuz = l20 
5. wh Cenle U_ancd Haclous 4im drau 
an aLL talerseel ux_inE 

6 im TE 
Hence 7TRUE 4 keguiied gp 

ExERcSE-45 
Maw e Sgvate R;AD 
WIK RE-5/lm 

R 2sem l 

aSgvate all 
amglis aLé lgval = 96 

S Cm 



Samea Ezeeuise 4 Qvesiori2oR 
3 and a4 aabee ourselg 

Choplep 
Inladuc oni 
Dalap37ty nvaslabte Lo s 2 an un 

orr 13 Called Aaw dala 

DATA ANDLiN 

akgamised 

pictgap. 
PicTuses 

ke peserd data vbing 

A Bau Japh Adisplay a rfoiomalo 
theiu USimg- bats of _unfot n Wihein haks 

Lara bak a 
heightsbeing Pudportienal da hE. 
kés pecive valvés 15 Called abak giaph 
DaubleBak 94aphs A bak 9Haph 
Shewinglñ seli data Simulantbuy 

Ealled a duble bat g4ph. aph.a 

HIStaghams Gkeuped dafa Lao 
be epesenkd using bisgram.hece 

20 gap beNeea U clask tm Te4vel 
es_he22umbe 

times 
PiE ¢haut: ACincle gkaph Shos ha 
Hela tion3hipbemee a Ahalerand
Pant pataLan also PueserTed 

USing Cikcle JRaphs 
EVENT_ose oknake_oatcomes 
amecpexementnake an eventi 

oulComes-

Peobabil:to Lhat nake tn tvent 
Jo7al 2vmbtr dulcoRs 
o heexpellamet 

Nole o ueslz ons 
1ex baak_ana glhtedgh 

ChallhyLUpnly 
aDa 



Exercise 5]L 
Revency OisthSbutan Table 

Sol1 
Shoppeis Tally MazksNa Shepler 
W r N_u1 

HT LH1 I 

M 
Total 

a kafh 
35 

30 

5 

W M B 
ShoPPeys 

FAeUeney_ 7ble 

Hages ia R1a 
2ueney 

Boo10 

cLass imhvel 

810-80 
8R0-830 
830-84o 9 
8 4o-&50 
850-86o 

860- 8 10 
8 70-88o 
90-90 

8 90-900 
761ad 30 

abod 
ayDa 

337HSSP 



C
ih

o
ap

 8
o

0
4

4
 has m

aA
rnua 

7um
bey 

|W
eker 

7 
W

atete 
h

á
se

fa
in

irg
 s 

R
 

s 
an

d
 m

ore- 143+
1/*9| 

T
 

Ih
 y

9
 W

oskess 
w

hose Parninj 

5 4 

C
 



USJuory h /ven batraph We see 

()MaXimu7 7vmber of Sholenk 

Wathed Tv = 4to5 
09 S7udepk NaTeheal zy es 

Lha 

hoUrb 

Chad houxs 440+RR-YLhours 

uly Slvdeyh spent move eay 5 houts 

waTehing 7V= 6t6 hauys 
ExERCsE 5 Semiefasic 

4 
) N pe.ph liked cksi/ 

classye almusiczR 
esenage ple Li'ked 

elasgieal mvsic 1o 
Aet Total o PepeSyAVLjed -* 

2z=20

Perple

Aht nusic 13liked by 7aXimun

2 2_ 

feopfe 2umbez 
Tal n6 cDs=loto 

Kght.znusicalkrsic Semiclassical_classizal 
4% R 
40/9 1os loco| 2106o 

x lo 20 xloto oloace 

zi) Wintey Seahon got Ihe maot VTes 
e c_enual angle Valve een yado 

Tatal vadve abDd 

TV 



Seabons5 n0.Voles cenhalamgle.

90xa60-9 360 SUmme 90 

Rx360 Iz4| 
360 Kainy 

Winle 
Tdal 

50 
360 

150x36o-150 6 

Summex Kainy peason 

9 
160 

Seaso 
Pie-chat 

Wine1 ea bon 

&3 Colouns 20. ebleCenual angle 
18 Blue 

= /80 70 
|4reen 

26 

Red 6 6 

70 
yelew 

Tatal 36 36°| 

Bhe 

/80 

yellen Yeen 
Red 

Pie-chat 
4APacticehs2uslian yause 

oJDa 

7wssD 



45 
anwge7 Shdek_eental angle 

Hind 40 R 

Engbish x36o 36 6 

akah Lx 36o 45 
IR 

Tamil x36 35 

enpal a6-- 

Total 36 

Pie 
chaat 

Hind 

ega 

Tanil 

Execise 6.3 
Solta) 

autearze4 Spimnin9 
a Wheel ake A, , D 
out Comes When 

Toss ing Ztseoins 
TegeKéE aAl; 
) (TT) (uT) (TH 

hen a dre 1s7htowN ist#e- 
toulcome, of an 9eltinj 
a-A-Aine ubes, 2,,5 
Not a ime umber, ,46 

mahath 

A 



OR 
) A umn br gkcaley harn 5 is6 

A yun)bey ot 9ecal han 5 o 1,),3,4 

W3voy pueslbon No 1 
4 Num bey af outcomes Pa5Si ble 

Painey s7ppin a 

Tofal rno. 
D=1- 

otcor-re he euhrnt 
PlhE Perintiy Stsyping on D) z- 

b) Ystal 8 aces 4 
Total 

Pan ace)= 
red app.es =* 

NO 0ulCaes= 5 

4 9 7 ptal outCamesl4plns) =7- 
PGetira ked aff) = 

Q No stp uaifán 6_cnite 
Total'2s a4 dutcomes (slps) = _b 
PLgeltng a 7umbty6)= 

um berl les han 6_ as B45| 
5- 

Jal 20 spsleut Cames) = o 
PLgefting a n0,Less L4an6 

umbers44ahi lh�n 6_ahe -78,9,10| 
PLgating a n0 Jtaltf lkan 6L 

5 

i) ene-olig touwmbers ausyps3,456789| 
9 

Jfal sumbey of out lames=lo 
dizit)-2 

GOJom uestion 
1a)P(a leioe squmbes)== 
(b) P[7t a prlme 7umber)

a) Pa rvmbeygutata han s) 
Pla rumber not pkrl han 5) 

OE PHac ice yottrs el7 

R 

6 



{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

